AP Calculus BC
Unit 8 — Day 8 — Assignment

Use partial fractions to evaluate the integral.

31“\5‘»\*;‘{ +1n .x+||+(,-

1) 2)
3 d 5—x
Kt x—2 2xt 4+ x—1
XA+ | X +C
DY
Xt9
3) 4)
4x? +2x — 1 xt—1
Btz x3+xdx

~In x.)}m)x“n]rc

oY
) 2 g

5)

x%+5

N l X'H) + é”an‘ran

N T N

Mo
-ﬁ:.i’C/




@ 5 93 _d% Py -as (W) e -1)

o\
3 A\ AX 2 ()

3 Qwa)f (D)
%=1

)

i e T

3= Alx-1) + B(x+ )

X= | 3=M/mm\m\ X=d: 3=A(-2-0)+B(-2
3= 3P 3= Al-3)
B s
j SN 5 L ay
Xt Xt

“nba) e re |

I



@ S o ACHA-1= (ax=1 Y xa )
X+ x-1 .

e

i ¥
(ax? v 201 x-0)
Axlern =10

’ A X+
(aX-D{XH) " I .

/“—“\,‘f""u\'\_‘% e

(5o b r Blag)

et u N

R Ba) = A w8 (a0 /O RER D 5-F- ALa) *BW')
o= B(-3) T AE




@ LH(RJI' M-idx )(3+)(\a¢ x?(x_}l}
>+ &mq

vepeated

4x%t Ak A NG
vt - y By —L 08¢ ¥2
SN % X+ j @

l
Do D D)

A TR Bl + )
NS+ ax-) = A D) + B
JMM%M

X=0: R aet)-| = ALlor D (D (L) ) KL

HEEN 4D A1 = ACYAR) 4B
(1Y
H-a-] = ¢
o«\‘%’* E
LD 4O rad 1= AN + 8L+ ¢ (%)
o a-) = AL 4 B+ C

o . 5=z AATAaB ¢
e Y 5=aAaCd
B = 0= ah
[B=3)




® j XPEL= K%
x5+x

250)
X2 X X7+
LD b

6@’! ; A L)L 4«0 t (bx% L\U\)

-“”“"“moﬂ‘“

X=0¢ 0%-1 = Al0%r1) + U?a(ﬂ)y@ffﬂ)

-1= 8\

freet 3 free) ¥ )
X1 2y = AP FD) (BN FOND Xz 3 ‘3‘:};;‘39!—\)4—@(23*(:)(9)
b= 2A + B+ . = +uptal
_ AW AR - _
PQ\O?\-'E A p-alt-n T bBec %{9{ - 3 ”'% 5&(}%@1—16

/

(A=B+()
\ P m\k‘gjﬂ

A= BJ—CU“ =20 +a
geuprac ) ORUBTAC

4= 28 2=8+C
[B=2) a=axC
C=o]




X°+5 4y
) (X2-Axe9)

)
X*+5 A7 prrc
--——g——_____,, = S S S
Oa D DE- At %) Pé‘} | X2-9x+ % ()
(X*-axt%)

3Fr5 = A (P -axtd) 4 (BXFOLRAY)

X=-) (—{)?fs - ﬁ((,ﬁ?‘_&(,_{‘) *_?;) & LB(—D-& V)

o= A(t+2+3)
W=

L A
JA=1]
£ Corplie gacn 146 ol egin s
Ktz xd ~ApX+DA T BX®+ pat (k4G

L:]+Dx+© LH fjﬁ- X(CaA TBHC) + (BA:’\C)

iFRTE 5=3A+C
94 N
?T\.ﬁ AN N el e ey ¥ H=3(0)rC
B=0] a-C)
ot
| tbw\q\i% @”~ ) {}.&f‘ *
dx + § _F A SN s
S K X234 KPops B9+ - 5]
- ? . | (x-D%s 2
@XHD S 0P+ Uk
T 4 qu=dx
(7.}
*J wear T

{ A &) avcran( %}




